| EERRHEOHIRES |

EER. ERORRGEDEEMICKAFELTHHE IO LERMICHESSh, —EHRHE T S RENRRITLEHI(TDEF
£TT . BAESENETVSIFERCERGHIITRRDESYTT . FEFMICLI > TEERPLLEE., RERKRELIETOHMEILE
BYETH. BENHEEDICDODVTIEERAL AT LETHHALELTVET,

202249198 R%E
-] No [ #BERFR | &bt B | £t BEETOBEEEHE
dbiEEth Al 1|dLEE 16 1 %A30,000/ ~ 200,000, #4%52,500,000 . iR:EBIAK
2[5 HFE 5 4 1 F 850,000 ~ 120,000, #4%&3,360,000MH
3| EFE 2 420,000, #3%81,000,000M . R B Ak
S 4 BHE 2 3 1 /A 850,000 ~ 80,000/, .%ngoo,o?oﬂ
5|FxHE R 4 1 JH %850,000/ ~ 150,000 , SR iZ B R
6| LR 4 1 1 F%860,000/ ~ 80,000, “F%8840,000M . i&E B AL
UtEIETS 9 1 /A £850,0009 ~ 100,000/ , £E%8840,000F
8| IR 9 1 A £850,000/ ~ 100,000, #3%83,000,000[ ., IR:EBNAK . £ EXIBEHIE
IR KRE 2 2 JH £850,000 ~ 100,000/ . ££%£8600,000F
10|BER 1 1 1 I £8150,000F9 ~ 200,000 . ££%&1,000,000F9
BEERHA | 11[I5ER 2 A %850,0009 ~ 80,000 . 3X;&E BN AL
12| FER 1 1 1 4860,000F ~ 85,000, ££58 X 1,000,000 % T
13[ERER 7 1 F %820,000/ ~ 70,000, %%83,000,000M . iR =Bk
14(#HZE)IE 2 1 A %E40,000M . FA%E80,000M L1 £ F%E1,200,000
15|#FRE 4 2 A 830,000/ ~ 100,000, #4%&3,600,000M
16|f2H R 1 /A %850,000/ ~ 100,000
P 17(ILEE 1 #4%81,000,000M ~ 2,300,000 ____
18| REFE 2 2 F %850,000 ~ 70,000, #3%E3,600,000 . ;&= B
19| RIE 1 1 %880,000M
20(F#[E 2 6 5 1 %850,000~ 170,000/, £F%E 5% A 3,000,000/
2|=ZER 1 £ [E1& X 1,000,000
22| #ER 1 F%850,000/ LA, AZFBF3Z E £120,000
23R ERATF 3 1 JH %860,000 ~ 100,000/ , ££%81,002,000M
EEHA | 24| KBRAF 2 F %830,000 ~ 80,000 . iR:& Bh Ak
25| EER 2 2 F%830,000/ ~ 100,000/, #3%A1,100,000 . 3&;Z B
26| ="RE 1 RIE B
27|F0F LR 1 I £860,000M
28| HEE 1 1 RIE B
hE#A | 29| EB8 2 F %850,000M . —FB¥41,200,000M
0|LLAR 1 F%880,000M
NESE 1 R5E B R
mMERA | 32|BRER 2 F%840,000[ ~ 125,000/
B|EHE 1 #A%H7,200,000M
UEER 2 F %A50,000 . “%E1,200,000F
JUA | 35[RERIE 1 1 -4:1)52
B|ERSE 3 B %870,000F9 ~ 100,000

Bl RFRAFEEN S AEE50000MHZE S, ZRER. SEHHLBSITSRERRR,




